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#75 F (coverage)
WHEEL 1k, EAAPEGBOTUEINS (AIXBOHNEA. Al BO+05ME)
LEiC, £45B :E?5XVR~@WT‘%G '%E?é}y»—@ﬁA@;k@
H%, QCA TlE, fERRICET 2HFlONT, FROTHEMETH S Ciclmd 2 FHl
DENG % i £ (solution coverage) & x5, &b & LTHMTIR E L 7-{E 4 ©IEHH IC
&9 2 HHIA3, FER R ICET 2 HIA % HBEE (raw coverage) &\ 9, % K DIHA,
il %2 DIHHMEL EE1E, thoEaLHEEGZFES, o X)) It L DFMFDR
B V&I WAz, L 0EHGDOHR TR WL EMFICET 2 H:62, #HER
DIET 2 EAGOFHNC D EIEG %, EEWHERE (unique coverage) &9,

R

Solution AVB = ROV = v [X

Bic, fE2SAVB =R : HEEMIA 7213 B2 ROT5E&ME (AH30wIiE B chiud
EWIHFERICARZ) BV 2 VTR L,
ZOW, FNEFNDOEEDA VY ANA—FRDE S IChoTnizE T3,
U={ab,cdef,ghij}
A={def, g}
B ={f,g,hij}
ANnB={f,g}
AUB=1{d,e f,g,hij}
)

Ao number of members ofA 4 0.40
raw coverage of A = number of membersof U 10




23

24
25

26

27

28

29

B number of membersof B 5 0.50
raw coverage of B = number of membersof U~ 10

ANB={de} unique member of A
BnA={hij} unique member of B
. number of membersof AUB 7
solution coverage of (AVB = R) = =—=10.70

number of members of U 10

number of members of AU B 2 0.20
number of membersof U~ 10

unique coverage of A =

number of members of AU B 3 0.30
number of membersof U~ 10

unique coverage of B =



